More Linear Systems Exercises

Write each of the following linear systems as an augmented matrix. Reduce to echelon

form by Gaussian elimination. Finally determine all possible solutions if there is one.

1+ 229 — 13+ 224 =3
1 +3x0 —x3+3x4 =4

$1—2$2—3(L‘3—2l‘4:0
3. —x1 +4x9 +4x3 + 224 =4
2.%1 — 2113'2 —3.163 — 8$4 =38

$2+2I3—4IE4=1
$1+3$2—2$3—|—2$4:6

—x9 +2x3 + 724 =6
1 +3r9 — x3+3x4 =38

My answers:

Same as 3.

A N s

No solution.

r1=-3, x9=3, z3=1, x4 =1

T1+ 229 — 23+ 224 = 3
$1+2I2—1‘3+3(L‘4=4

$1—2$2—3LL’3—2I4:0
2%1—2(132—5.%‘3—4%4:4
1+ 229+ x3 — 614 = 12
—x1 + 4x9 + 613 — 224 = 8

$1—2I2+21’3—|—5£L‘4:1
Ig—f— ZL‘3—|—2I‘4:2
1 — 20+ 3+ 8x4 =25
200 + 3+ Txy =9

331:1—'_@7 x2:1_ﬁa xr3 = &, [134:6
r1=1-2a+p, zo=a, xr3=0, 4 =1

Ty =8+6a, ro=1—qa, 3 =20+2, 74 =«



